C-LOK

172
8
S
b~
N
=
5
m
S
&
8
S
3
-
Q
=
9
S

C-LOK Instrument Valve Co.,Lid.




Instrumentation Solutions

02 Two-Valve Manifolds

06 Three-Valve Manifolds

(08 Five-Valve Manifolds

10 Gauge Valves




Gauge Valves and Instrument Manifolds
Feates .|

Pressure up to 6000 psig(414 bar) for standard stainless steel body
Temperature for PTFE packing from-65°F to 45071 (-54°C to 23)2°C)
Temperature for Grafoil packing from-65"F" to 1200°F (-54C to 643°C)
Packing below stem thread isolates the thread lubricant from the media
Back seating design protects the packing in fully open position
Non-rotating stem tip

100% factory tested

Orifice:0.157"(4.0mm), CV:0.35

Standard Materials of Construction

Technical Data

Valve body material

Temperature
316 8S | Carbon Steel
: A Working pressure,
F C ;
psig(bar)
—55:—?.0 —§§~-28 6000(414) ! =
-20~100 -28-37 6000(414) 3000(207)
200 93 5160(356) 2730(188)
250 121 4910(338) 2695(185)
300 148 4660(321) 2660(183)
350 176 4470(307) 2615(180)
400 | 204 4280(295) I
450 232 4130(285)
Handle color codes for functions: 500 | 260 [ 3980(274)
BLACK=lsolate/block 600 315 3760(259)
RED=Test/vent
: 650 343 3690(254)
GREEN=Equalize - —
700 3n 3600(248)
750 399 3510(242)
tem ot L Valve Body Material 800 426 3460(238)
316 §§ Alloy 400 | Alloy C-276 250 151 3380(232)
1 Handle Anodized aluminum 900 482 3280(225)
2 Set Screw Nickel cadmium-plated steel 950 510 3220(221)
3 | Packing Bolt 321 SS/A276 1000 . 538 | 3050120%)
T 00{207
4 Upper Stem 316 55/A276 i - b + sl
1100 593 2685(184)
5 Lock Nut 316 55/B783 1150 621 2285(157)
6 Bonnet 316 SS/A479 Alloy R-405/B164 Alloy C-276/B574 1200 549 1715(118)
7 Gland 316 55/A276
8 Packing PTFE or PEEK or graphite
9 Lock Pin 304 SS/AZ76
Chrome-plated y .
10 Lower Stem 316 SS/A276 Alioy R-405/B164 Alloy C-276/B574
316 S5/A479 Alloy 400/B164, %
1 oty 316 SS/A182 B127,8564 R
Lubricant Malybdenum disulfide-based

Two-Valve Manifolds

Features

Two valves in one block for isolation, calibration, test and bleeding of instruments.

Basic Model Number ) Inlet/ process Outlet / instrument
-20-F8-A _ 1/2" Female NPT _ Flange(MSS)
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

Test / vent
1/4" Female NPT

—3 0.472"
— T @120) Instrument
- Test/ Py
|y Vent
J i
— X Isolate
1 CoAT H
S8 A
h Process
2.94" ==
A1 1.25*
7.7 et |
an (31.75)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-2D-F8-A 1/2" Female NPT Flange(Ms5) 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
o S1A
(54.0) | _ Instrument
| \ B
—— T \a
=1 82 S —
; = A = J c!g Isolate X X Test/Vent
§ Ry = AT S R
4 D0AT2Y i 3 - smenl] A v
(012.0) IS bk ! P Process
173 118" nE T
(44.0) (30.0) =4 128"
437 (31.75)
(111.0)
Basic Model Number | Inlet / process | Qutlet / instrument Test / vent
-2D-F8-L 1/2" Female NPT Flange(MSS) 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
95 20472" B U
(@120 330 &2 o
. | == [Py ‘ Instrument
H Fasi )
- U Ul 2z )
I | k- s
il =
=
______ | Isolate % X Test/Vent
125" v
31.75) Process




Two-Valve Manifolds

Two-Valve Manifolds

Basic Model Number Inlet / process

Outlet / instrument

Test/ vent

-2D-F8-H 1/2® Female NPT

Flange{M3S)

1/4" Female NPT

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

162"
(41.2)

25
(63.5)

&
1.25°

(31.75)

Instrument
®

Isolate % Test/Vent

Process

Basic Model Number Inlet / process

Outlet / instrument

Test / vent

-2D-F8-C | 1/2" Female NPT

Flange(Ms5)

1/4" Female NPT

Basic Model Number Inlet / process Outlet / instrument Test / vent
-2R-F8-V 1/2" Female NPT 1/2" Female NPT 1/4" Female NPT
0.236"
a (2 6.0) |
Instrument
- (P
& 5 nE b i
Test/Vent Isolate
P
i 5% rocess
(31.75)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-2R-F4-A 1/4" Female NPT 1/4" Female NPT 1/4" Female NPT

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

@70\

24 20.276" ﬁ

A
K\S//S% 2
&

Test/Vent

instrument [

S
& 2.125"
S AR : : 00.472"
& % [ E®0 |/ R ‘
¢ : 1 Tl i Instrument
AL =
I .»r"%"‘" i g =l \? /
2 ﬂ wki: | g y
_ g E_/} / i AR i g ;i solate Test/Vent
A8 ain -.
l‘flfé%" __Q_ Process
A L.l_-?_ﬂ
(4 7 3L75)
(110.0)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-2R-F8-M8-H 1/2* Male NPT 1/2" Female NPT 1/4" Female NPT
P o Instrument
s i_ﬁ_h\J Test/Vent
=8

Isolate X
i

Process

§ g 1 ls " l\E‘_j’] L N - Process
d Sl E @ Isolate
=i ==
1.38" 0.53* — .
(35.0) {13.5) r]ééi)
2.32" ’
(58.9)
Basic Model Number Inlet / process Outlet / instrument Test / vent

-2R-F4-C 1/4" Female NPT 1/4" Female NPT 1/4" Female NPT
0.87*
(22.00 |_

| L | H

23"
s
—

= — @0.276"
R ’H‘T @710

Instrument

®p

Isolate % % Test/Vent

Process



Two-Valve Manifolds

Basic Model Number Inlet / process

-ZR-F8-L 1/2" Female NPT

Outlet / instrument

1/2" Female NPT

Test / vent

1/4" Female NPT

|

Tsay

232"

(58.9)

Instrument

Test/Vent X X Isolate
v a

Process

Three-Valve Manifolds

Three valves in one block for isolation, equalization, bleeding of instruments.

Basic Model Number Inlet / process Qutlet / instrument Test / vent
-30-F8-L 1/2" Female NPT Flange(MSS) Optional
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Boits
. 1 0 )
"= I_\_
0472
Itz
Instrument
L —0p—
o =)
i
!
Isolate Isolate
2.125" Process
(54.0)
4.25"
: (108.0) G
i i) -
(140.0)

Basic Model Number Inlet / process Qutlet / instrument Test / vent
-3D-F8-A 1/2" Female NPT Flange(MSS) Dptional
-30-S8-A 1/2" oD Flange(MS3) Dptional

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
P0472"
4x @12.0) \.\ lllst.rl.l.r.nent
!'P,_i:j
_..N_
Equalize
Isolate Isolate
Process
Basic Model Number Inlet / process Outlet / instrument Test / vent
-3D-F8-V 1/2" Female NPT Flange(MSS) Optional
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
8] Instrument
i NS %
- =0 Zs
tﬂﬂ [; 1 oL I Equalize
H b 4+ LR ks
- Il\ i) - [ l,} Isolate X Isolate
@047 _— T Process
12120 L 2w |
(54.0) 375"
3.425" | (95.3)
87)



Three-Valve Manifolds

Five-Valve Manifolds

Five valves in one block for isolation, equalization, testing and venting of instruments

Basic Model Number Inlet / process Outlet / instrument

Test / vent

-5D-F8-A 1/2" Female NPT Flange(MSS)

1/4" Female NPT

Basic Model Number Inlet / process Outlet / instrument Test / vent
-30-F8-C 1/2" Female NPT Flange(MSS) Optional
-3D-S8-C 1/2" 0D Flange(MSS) Optional
Flange Seal and Bolt Kit: PTFE(or Grafuil) sealing rings + 7/16-20UNF Bolts
A W0
P N
(\" \ ; ."_\\ \
) 2
/é«*' Q;\’\ Instrument
; : i_:: -
{f &y ::‘{ q Plug ; Plug
5 D047 E3 == ptd ‘ Equalize
(@120 |
Isolate X Isolate
- Process
1.25"
(31.75)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-3R-F8-V 1/2" Female NPT 1/2" Female NPT Optional
-3R-88-¥ [ 1/2" oD 1/2" oD Optional
—[ Instrument
ks —%—
8la |
N'ES Plug f <} 3 Plug
\ Equalize
| - | - ‘ Isolate Isolate
2.125" A T
i 30.5
{35;(?) w9 A Process
(88.9)

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts

(I :[ ”]g-‘ﬁ:m [:[_f_J___LD|

=

=

o

'.4..: — InstElTenl
N, i - :. e R
oz L = T “| 2ig
F12.0) == Test/ Isolate Test/
‘ ‘ Vent T Vent
2 v A
Process
“@BLTS)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-5D-F8-C 1/2" Female NPT Flange(MSS) 1/4" Female NPT
-5D-88-C 1/2" oD Flange(MSS) 1/4" Female NPT
Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
PN ; '
D 0TIl
e L0472
\Q\{%{“ (@12.0)

& e
kb :30.0:{..;17‘ =7
| (]

£
e ke |}

‘ 2125"

-

(54.0)
3.35°

a&;zﬁl | 125" |
(102.0) =
5.60"
(142.0)

Instrument

D

Equalize

Isolate Test/
Vent

Process




Five-Valve Manifolds

A valve with 3 outlets in one block for isolation, bleeding of instruments.

Gauge Valves

Basic Model Number Inlet / process Outlet / instrument vent Test
-5D-F8-B 1/2" Female NPT Flange{MSS) 1/4" Female NPT Option
-50-38-B 172" oD _ Flange(MSS) | 1/4" Female NPT | Optian

Flange Seal and Bolt Kit: PTFE(or Grafoil) sealing rings + 7/16-20UNF Bolts
N\
o s VL
- E E %\ Enﬂrﬁment
- — j . \?9'_
g =1 4 Plug ——{>=<] ] Plug
| e IR . t il k] L B Equalize | Equalize
— O £ —¢ | | =12
L £ == b L s § i
PV I._,;;’* 0B rn N he = 2a Isolate X Isolate
4y @047 B T S | . £ | P
(®12.0) 2125 | = Y | L
_____ e r~|c O —
(5&‘0} s|= Pracess Vent Process
433 1.25"
(110.0) BLIS
5.60"
(142.0)
Outlet / instrument Test / vent

Inlet / process
1/2" Female NPT

Basic Model Number
-5R-F8-A

1/2" Female NPT

1/4" Female NPT

(61.7)

243"

g

Instrument

P

0

Equalize

Test/ r)( Isolate Test/
L I\_( Vent I $ Vent
1.125" A Process
(28.6)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-5R-F8-L 1/2" Female NPT 1/2" Female NPT 1/4" Female NPT
-5R-88-L 1/2" oD 1/2" Female NPT 1/4* Female NPT

3.00
(76.0)

Instrument

Dp

Equalize

Test/
Vent

Test/

LA

Vent ¢

Isolate

Process

Basic Model Number Inlet / process Outlet / instrument Test / vent
-GV-M8-F8 1/2" Male NPT 1/2" Female NPT 1/2" Female NPT
|'H_I
.
Plug
Isolate
= e ~ Process Instrument
/ o b NS =
u | C Hia % .
=l |\ R R = Test/vent
2.91° | | 1.50" =
(75.4) " (38.1) 1.25"
5375
(136.53) BL75)
Basic Model Number Inlet / process Outlet / instrument Test / vent
-GV-M8-F8-E 172" Male NPT 1/2" Female NPT 1/2" Female NPT
Lu: [1] ()]
S i
| Isolate
‘|‘—=?‘ / @ ==y —F=la .l= Process D—M—}b Instrument
L \ 0@ &3
184 - | [ L50" e = Test/vent
(123.0) 7.05° (38D _1.25"
(184.15) ]
Basic Model Number Inlet / process Outlet / instrument
-GV-M8-F8-C 1/2" Male NPT 1/2" Female NPT
: =
L] |
| ] f Isolate
| | Ly SHEE Process Instrument
£ :::\7"]
Test/vent

(1[0



[8918 UOGJRD S| $1{0Q JO [BUAJRW PIRPURS BY]
jleway

Buig aqny
JUEN L
| agn
usalied papusiiy _ﬁﬁeﬁ s
pajunoy (9y 10)
|eJuOZLION Sanfe adsaaey | M
pajunopy (dY 10j) 94 —
f|jeorpap sanjep ddSg 3eway A |
pajunopy m“w_y._ m__m_w W % 18915
aul|-u| Sanjep ac uogie) 89
azis pue (dy 104) i i i
adky yoedwoy adfy jajui ayj se fem 0S| 3feway e §S 191€ |19
uoijaung awes ay) u payiaadg 1|8 | LdSa3EW | N i[3 S1E |18
T _ az1jenba ajgno _ ; ldsgajenay | W _ [
1dN 8[ewad ,b/1 dl llojesy |9 I 1qnoq __ Jjul se awes ‘adfky Y € |9 | N N ¥z | SS Y0E | 1S
N 3ld wialled 3j3uy | (sSwyedue)y ‘adky @ AN N dewsy |4 a SS 91 |SS
|elajep 8zIs adfp | |euajepy
sdn|d '@ suod 159 — 3uiyoed - a|fis Apog ) 18N0 azis 19|u| ELLAREIT ——sauag — fpog

uoneuLIoju| suLapiQ




